11b-2 - Determine the moments at the supports, then draw the moment diagram. The members are fixed connected at the
supports and joint B. The moment of inertia of each member is given in the figure. Take E = 29(103) ksi.

__ B PL 2+ (10")
LD 20k = — 7 — = "_t Lf@k‘“
}’\% FeM e 2 2
_ B k(\Z')
., = L _1=Fle) et
; = BC @ 2 == ZZS %
= D=0  Ve=0O e "‘"32' Tae
fit
= g an T 75
F;X*::D B E_Jﬁ_ l¢ :L’LP"L B [fé(/&' —\~N3>
ME/\ I X e |2/ - |24
Von oy
_ - \
DFen = - - /5




Problem 11b-2 — Determine the moments at the supports, then draw the moment diagram. The members are fixed connected at the
supports and joint 8. The moment of inertia of each member is given in the figure. Take £ = 29(103) ksi.
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Problem 11b-2 — Determine the moments at the supports, then draw the moment diagram. The members are fixed connected at the t
supports and joint B. The moment of inertia of each member is given in the figure. Take E = 29(103) ksi.
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Problem 11b-2 — Determine the moments at the supports, then draw the moment diagram. The members are fixed connected at the
supports and joint B. The moment of inertia of each member is given in the figure. Take E = 29(103) ksi.
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